Dividing Decimals by 100

037 += 100 = 06 =+ 100 = 881.1 + 100
0.09 = 100 = 0.007 = 100 = 1.4 + 100
41 =+ 100 = 6.1 + 100 = 618.4 + 100
0.02 + 100 = 775 + 100 = 6.231 + 100
096 =+ 100 = 09 =+ 100 = 56.08 + 100
0.028 + 100 = 293 + 100 = 0.164 + 100
678.5 + 100 = 0.06 + 100 = 03 =+ 100
64 =+ 100 = 0.006 = 100 = 0.102 += 100
0.011 = 100 = 0.674 + 100 = 0.01 + 100
06 =+ 100 = 611 + 100 = 0.627 += 100
12.75 + 100 = 6.402 + 100 = 435 + 100
01 =+ 100 = 19.52 + 100 = 0.978 + 100
1.35 + 100 = 0.002 + 100 = 0.087 + 100
0.063 + 100 = 306 =+ 100 = 2694 + 100
0.79 + 100 = 0.098 =+ 100 = 0.72 + 100
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Dividing Decimals by 100 Answers

037 + 100 = o.0037 06 =+ 100 = o006 881.1 + 100 = ss11

0.09 + 100 = ooc0e  0.007 + 100 = o.00007 1.4 + 100 = oo

41 + 100 = oo4 6.1 + 100 = o.0s1 6184 + 100 = 6184

0.02 + 100 = o.0002 775 + 100 = 775 6.231 + 100 = o.06231

0.96 + 100 = o009 09 =+ 100

0.009 56.08 + 100 = os5608

0.028 + 100 = oooo2s 293 + 100 = o203  0.164 + 100 = ooo164

6785 + 100 = &8s 0.06 + 100 = o.0006 03 + 100 = o003

64 = 100 = o.064 0.006 = 100 = o0.00006 0.102 + 100 = o.00102

0.011 = 100 = ooo011  0.674 + 100 = o.00674 0.01 + 100 = o.0001

06 =+ 100 = o006 61.1 + 100 = os11 0.627 =+ 100 = o.00627

12.75 + 100 = o125 6.402 + 100 = o.06402 435 + 100 = 435

0.1 =+ 100 = o001 19.52 + 100 = o2  0.978 + 100 = o.00978

1.35 + 100 = o015 (0.002 + 100 = ooo002  (0.087 + 100 = o.00087

0.063 + 100 = ooocoes  30.6 =+ 100 = o306 2694 + 100 = o0.02694

0.79 =+ 100 = o.0079 0.098 + 100 = o.00098 0.72 + 100 = oo0072
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